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QUESTION 1

An administrator needs the ability to perform versioned editing in the database. What component must be added to the
database?

A. Versioned view

B. Geodatabase repository

C. An application listener process
D. Database replication

Correct Answer: D

QUESTION 2

An ArcGIS user must load a shapefile into a file geodatabaase feature class. The shapefile contains a filed type Number
and contains whole numbers with a maximum length of seven digits. Which data type will the corresponding filed
contains in the feature class

A. Long integer

B. Number

C. Shot integer

D. Float

Correct Answer: B

QUESTION 3

An administrator adds a new special table to an enterprise geodatabase using database tools. A user
wants to implement topology rules on the special able to determine if polygonsoverlap.

What does the user have to verify?

A. The data is registered with the geodatabase.

B. The data is registered as versioned with the move edits to base option.

C. The data has attribute indexes.

D. The data is a stand-alone feature class.

Correct Answer: B
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QUESTION 4

Which type of editing supports two-way geodatabase replication?
A. Nonversioned

B. Versioned

C. Versioned with the move to base option

D. SQL updates to the base tables

Correct Answer: A

QUESTION 5

A user published a feature service to ArcGIS Enterprise using data that is NOT registered with the
geodatabase. When accessing the data online, the user notices that editing the feature service is NOT
supported.

Which of the workflows explains why this would occur?

A. The feature service was published will version data.

B. The feature service was published with data.

C. The feature service was published with operating system authentication.

D. The feature service was published with a database view.

Correct Answer: A

QUESTION 6

AS company has the following requirements for data editing:

Check Topology rules on features classes after they have been edited. The current production Postgres
database must be used changes. Which workflow can the administrator perform to meet the
requirements?

A. Run Enable Enterprise Geodatabase

B. Right-click Database Server > Select Add Database Server

C. Create a new workgroup geodatabase

D. Create a desktop geodatabase

Correct Answer: A
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QUESTION 7

An administrator needs to administer a workgroup geodatabase. Which section of the Catalog tree is used?
A. Folder Connections

B. Database Servers

C. Database Connections

D. GIS Server

Correct Answer: A

QUESTION 8

How should a GIS administrator add a feature class to an existing replica?

A. Import the feature class into the child, then synchronizes from child parent.
B. Import the feature class into the parent, then synchronize both ways.

C. Import the feature class into the include the new feature class.

D. Use the Compare Schema and Import Scheme tools.

Correct Answer: A

QUESTION 9

Which reconcile option is recommended to identify when a second user edits a different attribute of the same record?
A. In favor of Target version

B. In favor of Edit version

C. By row

D. By column

Correct Answer: A

QUESTION 10
Who is the only user that can run the Create Role geoprocessing tool?
A. Geodatabase administrator

B. Data editor
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C. Data creator
D. Database administrator

Correct Answer: D

QUESTION 11

What is necessary for a user to be able to register a feature class as versioned?
A. The user must have editing privileges on the feature class.

B. The version must NOT have any children

C. The user must be the data owner.

D. The user must own the version.

Correct Answer: D

QUESTION 12

What is an example of a point topology rule?
A. Must Be Single part

B. Must Be properly Inside

C. Must Be Inside

D. Must Not intersect

Correct Answer: B

QUESTION 13

The geodatabase administrator wants to review conflicts when synchronization a two replica The parent is
the data sender.

Which synchronization option should be used?

A. In favor geodatabase

B. Synchronization in both directions

C. In favor of goedatabase 2

D. Manually at a later time

Correct Answer: B
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QUESTION 14

Which kind of lock is required to modify the structure of a table geodatabase?
A. Object lock

B. Version lock

C. Schema lock

D. Table lock

Correct Answer: C

QUESTION 15

A company needs to store its data in an Esri geodatabase. The GIS analysts at the company will NOT edit
the same feature database or feature classes simultaneously. The analysts want the ability to undo redo.
The company estimates it will need less than 10 GB of storage space hold its data The solution must be as
cost efficient as possible.

Which geodatabase type fits the company needs?

A. File

B. Enterprise

C. Personal

D. Workgroup

Correct Answer: B
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